Labour Relations 1960-79:
Changes in Employment in Britain.

Learning gain - by the end of this sequence of
lessons you will have explored how changes to
the British economy affected British workers. You
will have investigated how new employment laws
affected women workers.

e Examine the causes of economic change in

Britain.
¢ Explore the consequences on workers of these changes.

¢ [nvestigate the attempts to improve women worker's rights.
¢ Practice source exam skKills.
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jobs in heavy industry -
steel, docks, coal

post - industrial economy

ship building, coal mining older industries

steel production. NHS, education, council jobs

white collar jobs shops, offices, blue collar jobs
trade unions public sector

jobs in offices or shops
jobs created by the governement

teaching, nursing, council work.
economy no longer centred

automation around old traditional heavy
organisations created to industry.
protect and improve
working conditions and pay. use of machines and robots

service industries to increase efficiency.



Read together the double page -

Key Topic 2: Education, work and

Employment law - women in work

Changes in British employment Sucommte reniments pened ome i

Learning objective:
19 this chapter you will learn about:
® changes in the British economy that alfectad British

workers
@ changes in employment lew that sflected women snd
industrial relgtions.

Economic change
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White Collar Development

Use the information you have just read to complete this HOT she



Study source B carefully:

1. What is the source showing?

2. Which jobs are blue collar and which white collar?

3. What is happening to each type of job over the 30 year
period?
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1 Study Source B.
What can you learn from Source B about the British economy

1951-817 (6)
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L3 4-6 Makes supported inferences.  Sham (%) 1951 1961 W 198
A supported inference is one which Agriceltwreand 458 34 28 22
uses detail from the source Fishing

to provide evidence for the inference. Envrgyondweter 68 47 60 73
eg ‘Source A suggests that the raid Constractien 2207 21 W
was a great success because MR X3 33 07 Al
it says that many small and large R L s RS
factories were set on fire...’

* 4-5 marks for one supported

inference.

* 5-6 marks for two supported

inferences.



Study source C carefully:
1. What is happening in the photograph?
2. How do you know?
3. Who might have produced this photograph and why?




2 Study Source B and use your own knowledge.
What was the purpose of this representation?
Use details of the photograph and your own knowledge to explain

your answer. (8)

3 8—10 Developed explanation.
The candidate uses the source and
precise additional knowledge.

* 8 marks for one explained factor.
*9-10 for two or more explained
factors.

eg ‘Source C suggests that one of
the reasons for the Blitz was

to ‘destroy their last hope’ and ‘to
keep hammering the British

until they break’. The Blitz was
really intended to break the

morale of the British people. If they
saw their homes being

destroyed and their loved ones
being killed, Hitler believed they
would force the British government
to come to terms with him.
Another reason was to destroy
transport and industry...’

NB: No access to Level 3 for
answers that do not include
additional knowledge.
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